240 XtE
7L S REBH
A/B:BEH E/)LN—
C: BEGLLE/TZvY
QE ttll_ﬁi"_’j_tu T a5 A -l [(FEE $=1:5)
Iil | I
[F&EE S=1:20]
PEEAY | 54
TIL S M 7JL=FB 3t
A/B:EBEME/DILIN—
180 C: BEHE/TSvY 40
240
180 A = fEdt £ R
7% SUS HL# £ 14 9.220
“ —
[T =1 | B O R N A R e N : I
o o i | | I: I:—
|
= : A- 7oL bt
” | 2a5s e
%5 m~ Y
HLAt £
S 5
o o *® i :
: (=]
: S
7 JLSFB bt
H o
: S
GL
o i
= ;
= 9 s z ¢ I nx ]
450 450
550 550
[EmX S$=1:20] (@& S=1:20]
\ \/
[E@ER S=1:5] (E@ER $=1:5]
B & i #EtEAE Ew | i HE BEtEs
GEAR/COOL X A 34 m/s
GC-11 E#ihfit A 50 kN/ni




